NOTE:

LABEL PART PER | | 4X.56+.045 DIMENSIONS IN [MM] ARE IN MILLIMETRES
] |-— 14.2 +1.14
SPEC A-34473 ‘ 6[15.2] [14.2£1.14] ALL DIMENSIONS ARE FOR REFERENCE ONLY
(4) GROOVES ACCEPT PN
SAE 1/2" BELTS M10 X 1.5-6H
THRU
3.75[95.3]
| | s00127]
\ 6.08 [154.4]
DIA ]
B 156 [39.6]
DIA —t
A 150 [38.1]
- | o
\ 1/8-27TNPTF
[AIANIARE (AIR CONNECTION) \/
62[15.7] —t—| —| |~ s0[127] 4
TYP. 2.66 [67.6]
76 [19.3] 1.62[41.1]
om C 532[135.1] ——
FOR DETROIT DIESEL SERIES 60 ENGINE PART NUMBER oa A oa B om C WEIGHT
1077-07735-01 6.17 [156.7] 9.12[231.6] 5.67 [144.0] 32LB
1 077-0773 5. XX 1077-07735-02 8.00[203.2] 10.00 [254.0] 5.67 [144.0] 3518 z
1077-07735-03 7.00[177.8] 9.13[231.9] 6.62 [168.1] 37LB
1077-07735-04 617 [156.7] 9.12[231.6] 550 [139.7] 3218
——| |~ 4X .56 £.045
APPROXIMATE WEIGHT: 35 LBS. — |~ 6[152] [14.2 £1.14]
(4) GROOVES ACCEPT Iz
SAE 1/2" BELTS M10 X 1.5-6H
THRU
3.75[95.3]
-~ 50127 [ ]
. 6.08 [154.4] z
L
9.12[231.6] 1.56 (30.6]
[
7.00 [177.8] 1,50 [36.1]
(L 1
ST \ 1/8-27NPTF \/
(AIR CONNECTION) \/
— |~ 5p27]
2,66 [67.6]
62[(157] —| |=— 1,62 [41.1]
FOR DETROIT DIESEL SERIES 60 ENGINE TYP
532 [135.1]
76[19.3] —| |
1077-07735-05
550[139.7] ——=

www.bwthermal.com 1 39




) —| |~ 4X .56 +.045
APPROXIMATE WEIGHT: 29 LB o - esz (142 114
(4) GROOVES ACCEPT M VPN
SAE 1/2" BELTS M10 X 1.5-6H
THRU
3.75[95.3]
— |~ 5[127]
. 6.08
[154.4]
- A A A i)
— M\ i ol 19
L
9.13 1.56 [39.6]
[231.9] i
m 5.75 ]
[146.1] o / 1.50 [38.1]
‘ !’ L i
R
z \ 1/8-27NPTF \/
[ (AIR CONNECTION) \/
62 [15.7] —‘» — |~ 50127
TYP. 266 [67.6] FOR DETROIT DIESEL SERIES 50 ENGINE
.76[19.3] 1.62 [41.1] ' 1 077 07735 06
é 5.18 [131.6] 532[135.1] ——
—| |~ 615
—| |~ 4X .56 +.045
m NOTE: | sop2n [14.2 £1.14]
z DIMENSIONS IN [MM] ARE IN MILLIMETERS
[ ] (4) GROOVES ACCEPT M10 X 1.5-6H '
SAE 1/2" BELTS THRU
I 3.75[95.3]
I \ - 6.08 [154.4]
R
o o B ol 19
L
9.00 1.56 [39.6]
[228.6] i
7.00 ‘ !
[177.8] i ! 1.5 [38]
‘ L t
R 1/8-27NPTF /
A\ (AIR CONNECTION) \/

.62
[15.7] —{ = .50[12.7] FOR DETROIT DIESEL SERIES 60 ENGINE

o o oo = 1077-07735-09

- 532[135.1] ——=

528[134.1] —

1 40 www.bwthermal.com




NOTE: DIMENSIONS IN [XX] ARE IN MILLIMETERS. 4X.56+.045  —| = M10 X 1.5-6H
- s [14.2 £1.14] THRU
[15]
(4) GROOVES ACCEPT
SAE 1/2" BELTS s
[95.3]
| — 5
[13] 6.08
[154.4]
_ NIV
| N/ o
m
) B ol 19
L
8.00 1.56 [39.6]
[203.2] 7.25
[184.2] [
1.50 [38.1]
L ) i
I Al 1/8-27 NPT~ —| / 4
I (AIR CONNECTION)
X 62 -— 266 —- I
62 = = ] | 67.6
FOR DETROIT DIESEL SERIES 60 ENGINE [15.7] [1'3‘? [67.61 L
532
1077-07735-10 76~ | [135.1]
[19.3] _162__|
6.77 [“1.1]
[172.0]
NOTE: DIMENSIONS IN [XX] ARE IN MILLIMETERS. 4X 564045  —| |- M10 X 1.5-6H
- s [14.2 +1.14] THRU
‘ [15.2]
(4) GROOVES ACCEPT
SAE 1/2" BELTS ars
5.3 =
- }— 5
[2.7] 6.08
[154.4]
NI\
) O 1J Q
8.00 )
[203.2] 1.56 [39.6]
7.25
[184.2] !
/ 1,50 [38.1]
. L i
S /
ARTA 11827 NPTF~ —| /
I (AIR CONNECTION)
62 ~| |—
N I 2.66
[15.7] 12.7] 167.6]
FOR DETROIT DIESEL SERIES 60 ENGINE 76— |- 532
1077-07735-12 e
= 5' ~1.62 —
[41.1]
5.98
[151.9]

www.bwthermal.com

141




OUTLINE DRAWINGS

(4) GROOVES ACCEPT
SAE 1/2"BELTS

[203.2]

— = .6[15]
=
M10 X 1.5-6H
THRU

|~ 5[13]

—— 4X .56 £.045
[14.2 £1.14]

3.75[95.3]

[154.4]

\ 1.56 [39.6]
i

[184.2]

2X 62[15.7) -
TYP.

\ 1/8-27NPTF

. (AIR CONNECTION)

— |~ 5[13]

!
/ 1.50 [38.1]
I

s

FOR DETROIT DIESEL SERIES 60 ENGINE

2.66 [67.6]
.76[19.3] 1.62 [41.1] 1 077_07735_1 3
6.57[166.9] ——~ 5.32[135.1] ———=
NOTE: DIMENSIONS IN [XX] ARE IN MILLIMETERS
=— 4X .560 +.045 M10 X 15-6H
[142 £1.14] THRU
— ‘« 61[15]
] N N
(3) GROOVES ACCEPT
SAE 1/2" BELTS — ‘« 5[13] 3.75[95.3]
6.08 [154.4]
(O O
— I 4.2[107] /\ /\ |
1.56 [39.6]
5.75[146.1] f ?
1.50 [38.1]
a—| 1/8-27 NPTF \\/
VN (AIR CONNECTION)
—=| |=— 5[13]
— ~— 2.38[60.5] ‘
I 2xe2ps T aseerel FOR DETROIT DIESEL SERIES 60 ENGINE
sy — - 1077-07735-14
5.18[131.6]
END OF HUB

1 42 www.bwthermal.com




NOTE:
LABEL PART PER DIMENSIONS IN [XX] ARE IN MILLIMETRES
SPEC A-34473
—| |~ 4X .56 +.045
— |~ 6[15.2] [14.2 £1.14]
FOR DETROIT DIESEL SERIES 60 ENGINE T /\
M10 X 1.5-6H
1077-07735-15 THRU
3.75[95.3]
(4) GROOVES ACCEPT [ e
.08 [154.4
SAE 1/2" BELTS 6.08[154.4]
L
1.56 [39.6]
|
6.17 1.50 [38.1]
[156.7] i
\ 1/8-27NPTF I
J (AIR CONNECTION) 2.66 [67.6]
62 [15.7] =] —| |- 50[12.7]
P |~—— 5.32[135.1]
76 [19.3] 1.62 [41.1]
-—— 567[1440] ———~ m
(8) GROOVES ACCEPT NOTE:
"POLY-V" K-SECTION DIMENSIONS IN [MM] ARE IN MILLIMETRES
BELT (4) SLOTS .49 [12.4] WIDE ON
4.5[114.3] BOLT CIRCLE
— LABEL PART PER
o SPEC A-34473
I )
|
DIA L + z
© G
B m
—~ |~ 05[127]
— 126 |— 1/8-27NPTF
[32.0] AIR SUPPLY
PART NUMBER pia A B APsvraE?émATE
1077-07738-01 5.00 [127.0] 3.29 [83.6] 10LB.
1077-07738-02 6.00 [152.4] 3.29 [83.6] 11LB.
FOR CUMMINS L-10 AND N-14 ENGINES
1077-07738-03 5.00 [127.0] 3.70[93.9] 11LB.
1 077-07738-XX 1077-07738-04 6.00 [152.4] 3.70[93.9] 12LB.
1077-07738-05
1077-07738-06 6.22[158.0] 3.61[91.7] 13LB.

www.bwthermal.com 1 43




NOTE:
DIMENSIONS IN [MM] ARE IN MILLIMETERS.
(8) GROOVES ACCEPT
"POLY-V" K-SECTION
BELT (4) SLOTS .49 [12.4] WIDE ON
4.5[114.3] BOLT CIRCLE
LABEL PART PER
o SPEC A-34473
—
1
6.25 '\Q’
[158.8] ] ]
m
w ] 1
z ~ 050127
||
— 126 — 1/8-27NPTF
[32.0] AIR SUPPLY
FOR CUMMINS ISM ENGINE
3.29
é [83.6] 1077-07738-07
m DIMENSIONS IN [MM] ARE IN MILLIMETRES
(8) GROOVES ACCEPT 3.44
z "POLY-V” K SECTION [87.4]
BELT 1/2-13 UNC-2B
LABEL PART PER
SPEC A-34473 THREAD
|
- 562 DIA
T (4) HOLES
: 2.58 [65.5]
o 1.36 [34.5]
DIA —— R - —
A
M - s0
L I N {127
NoTE B
215 1/8-27 NPTF
= <lo ™ (AIR CONNECTION)
[54.6] 1077-07757-XX
368 —|
[93.5] PART NUMBER DA A NOTE B WEIGHT
6.00 1077-07757-01 5.00 [127.0] AS SHOWN 15 LB.
[152.4] 1077-07757-02 6.00 [152.4] | AS SHOWN 16 LB.
1077-07752-03 5.00 [127.0] NO PORT 15 LB.
1077-07752-04 6.00 [152.4] | NO PORT 16 LB.

1 44 www.bwthermal.com




DIMENSIONS IN [mm] ARE IN MILLIMETERS.

(2) GROOVES ACCEPT
SAE 11/16” BELTS

F%59%]
(2) GROOVES ACCEPT .‘ - .8 [20.3] 2X 56 +£.045 = | = TZ‘E)O
63.

SAE 1/27 BELTS \ [14.2 41.12] i [ 5]m
Py | LABEL PART PER ] THTT T ‘ [ _— ADJUSTING SCREW NOT
i ‘ i ‘ ‘/ SPECIFICATION A-34473 W INCLUDED —04, & —-05
B | | Eﬁ/ ADJUSTING BRACKET POSITION
inlot o an 6.50 ; " FoR —04
(I, i [765.1] P H &
i | 7] T
e 325
3/8-16UNC—28 i) T [826]
THRU \ \ [1{165]
Y- U —— - | s ‘{ RN / v L
Nigs: e L
‘ (369] I 1.00 [25.4]
— - 1/8-27NPTF : |
I AR CONNECTION [
[i87] H I e e e
: 1.12f=
[1.268 ]—4 1.2 [30.5] [28.4]
8] 7 2.25
[19.1] [57.2]
2.31 |
[58.7] PPR
omMm B —— PART NUMBER | DIA A | DM B | npor

FOR GAT 3408 ENGINE 1077-07767-01] 7.50 [190.5] | 5.84 [148.3]] 33 L8
3406 ENG 1077-07767-03| 7.50 [190.5] | 6.23 [158.2]] 33 LB

1077-07767-XX 1077-07767-04| 7.50 [190.5] | 5.47 [138.9]] 31 LB

1077-07767-05| 7.00 [177.8] | 6.72 [170.7]] 34 LB

DIMENSIONS IN [mm] ARE IN MILLIMETERS.

(2) GROOVES ACCEPT - .8 [20.3] 2X .56+.045]
SAE 11/16" BELTS [14.2 +1.14]

(2) GROOVES ACCEPT IR
SAE 1/2" BELTS

! 6.50
r [165.1]

e

3/8-16UNC—28
THRU

0
C
-]
-
r 4
m
:
:
r 4
",
/7

6.25
[158.8]

|

iy

3.50
[88.9]

T~ 1/8-27NPTF
AR CONNECTION

5 /
-
@

[1‘%.7]
66 — 1.2 [30.5] ’
[16.8] .75J‘ 225
[19.1] [57.2]
[%%5.17]*
5.84
[148.3]

Cat 3406 Engine

1077-07767-02

APPROXIMATE WEIGHT: 30 LBS.

www.bwthermal.com 1 45




NOTE: DIMENSIONS IN [mm] ARE IN MILLIMETERS.

APPROXIMATE WEIGHT: 32 Ibs

OUTLINE DRAWINGS

5.00 [127.0]
2) GROOVES ACCEPT L
gsA)E 11/16" BELTS 8 [20.3] 2X .56 £.045 | = 2.50 [63.5]
[14.2 £1.14]
(2) GROQVES ACCEPT . , ,7i,, I
SAE 1/2" BELTS LABEL PART PER
I SPECIFICATION A-34473
2 ‘ | |_—4X 3/8-16UNC-28
\,l | l 6.50 [165.1]
{1 1 3.25 [82.6]
f
1.62 [41.1]
7.00 [177.8] LI 1 3/8-16UNC
{ ﬁmﬁ’u
1
Lﬁ u 3.50 [88.9] LLoo [25.4]
— 1/8-27NPTF
I PR AI/R CONNECTION
[T ] L ) ]
62|[15.7] s 27 b 192 [28.4]
-66/[16.8] 1.2 [30.5] 2.25 [57.2]
75 [19.1]
L 53 [58‘7] FOR CAT 3406 ENGINE
L 6.31 [160.3] 1077-07767-06

DIMENSIONS IN [mm] ARE IN MILLIMETERS.
APPROXIMATE WEIGHT: 30 LBS.
[152900]
(2) GROOVES ACCEPT .8 [20] 2X 56 +.045= | = ) 25;
SAE 11/16" BELTS [14.2 £1.14] [63.5]
(2) GROOVES ACCEPT 77¥,, m
SAE 1/2" BELTS
| ‘ ! ‘ o 6.50 oo
!' | | il 3/8-16UNC-2A [1e51] +
— MM - ThREAD |
|
6.25 [ ] o | AR A N
[158.8] LI AL s il
s e N [ClNle i
™ p 1.00 [25.4]
1 | — 1/8-27NPTF [88.9] ‘\
AV T l| AIR" CONNECTION 4/ ‘
oo d LTI A2
- [ —| .54 [13.7]
[15.7] \ [
66— - 1.2 [30.5]
[16.8] 75
[19.1]
[%}33.17]* FOR CAT 3406 ENGINE
5.84
[148.3] 1077-07767-07

1 46 www.bwthermal.com




DIMENSIONS IN [mm] ARE IN MILLIMETERS.
5.00
[127.0]
2X .56 +.045- | =
(2) GROOVES ACCEPT - .8 [20] [14.2 £1.14] |, [(25‘352]
SAE 11/16” BELTS ‘ -
(2) GROOVES ACCEPT ™ NN
SAE 1/2" BELTS
| ‘ u l nat 6.50
! ‘ | ‘ 3/8—16UNC—2A [1651]
|1 L ThREAD
8.50 g 1A O
[215.9] \ o
IHI M 3.50 L
1.00 [25.4]
I ‘ — 1/8-27NPTF [88.9]
Il AR’ CONNECTION
A
.62J i ‘ ‘ ‘
[15.7] ﬁ \ — .54 [13.7]
66 — 1.2 [31]
[16.8] 7
[19.1] [ |
(38977 z
FOR CAT 3406 ENGINE 6.47
1077-07767-08 m
1077-07767-09 outline not available )
1 GROOVE ACCEPTS
SAE 1/2" BELT
ga) GROOVES ACCEPT DIMENSIONS IN [mrn] ARE IN MILLIMETERS.
, POLY—V" K—SECTION
| BELT
| AIR_CONNECTION LOCATION
] 4 FOR —08 VERSION ONLY
W [10.2]
] 1/8-27NPTF ]
ﬁrﬁ/ (AIR CONNECTION)
B A i LOCATION FOR —01
T i — P THRU -07 r
LABEL PART PER
" SPEC A-34473
[ — .00
27.0]
i 3.00
J ‘ [76.2]
A
l | 1
7 117.8)
. 108 [27.4] M12 X 1.75-6H
= om(C [29.5] (4) PLACES
om [ 2.32
[58.9]
APPROX
PART NUMBER | Dia A on B om C om D WEICHT
1077-07770-01 | 6.25 [158.8] | 7.75 [196.9] | 2.56 [65.0] | 4.30 [109.2] 18 LB
1077-07770-02 | 7.50 [190.5] | 7.75 [196.9] | 2.56 [65.0] | 4.30 [109.2] 19 LB
1077-07770-03 | 6.25 [158.8] | 9.00 [228.6] | 2.56 [65.0] | 4.78 [121.4] 24 1B
FOR CAT 3176 ENGINE 1077-07770-04
1077-07770-XX 1077-07770-05 | 6.25 [158.8] | 9.00 [228.6] | 2.56 [65.0] | 5.78 [146.8] 27 1B
1077-07770-06 | 7.50 [190.5] | 7.75 [196.9] | 2.84 [72.1] 22 1B
1077-07770-07 | 6.25 [158.8] | 9.00 [228.6] | 2.56 [65.0] | 5.26 [133.6] 25 LB
1077-07770-08 | 7.50 [190.5] | 7.75 [196.9] | 2.56 [65.0] | 4.78 [121.4] 21 1B

www.bwthermal.com 1 47




OUTLINE DRAWINGS

(1) GROOVE ACCEPTS

NOTE: DIMENSIONS IN [XX] ARE IN MILLIMETERS. SAE 1/2" BELT
APPROXIMATE WEIGHT: 19 LBS (8) GROOVES ACCEPT
"POLY-V" K-SECTION

6X 3/8-16UNC-2B ON A BELT
3.50 [88.9] BOLT CIRCLE
1.00 [25.4] FULL THREAD MINIMUM

1 Lg 7.50 [190.5]
[5°l-51 7.75[196.9]
5.00 [127.0]
1 3.00 [76.2]
2.00 [50.8] f i
i ‘ N 1.00 [25.4] 97 MAX — |
-4 [6.9]
oy T
118 o
4X M12 X 1.75-6H 20.5] -l |~ 7p8
. 232 _
[58.9] — = 1.08[274] FOR CAT 3176 ENGINE
2.56 [65.0] 1 077'07770'02A
~——430[1092] —
END OF HUB
1 GROOVE ACCEPTS
SAE 1/2" BELT
(8) GROOVES ACCEPT NOTE: DIMENSIONS IN [mm] ARE IN MILLIMETERS.
"POLY-V" K-SECTION
BELT
7.50 —
[190.5] T
775 1.99
[196.9] [5(1'5]
r 5.00
[127.0]
3.00 ﬁ
mA [76.2] 4] j} 2.00
| Y [50.8]
‘ | |
. !
ol o N 1.00
.279 7[17.8] [25.4] FOR CAT 3176 ENGINE
[6.9] . - 1.08 [27.4]
MAX - o84 - M12 X 1.75-6H
[72.1] (4) PLACES

(i652) ~ &2 1077-07770-06A

1 48 www.bwthermal.com




2,562 [65.07]

2.560 [65.02]

2.10 [53.3] CLEARANCE REQUIRED

FOR NUT

NOTE: DIMENSIONS IN [XX] ARE IN MILLIMETERS.

APPROXIMATE WEIGHT: 21 Ibs.
FEMALE PILOT (1) GROOVE ACCEPTS

SAE 1/2" BELT

(8) GROOVES ACCEPT
"POLY-V" K-SECTION
BELT

6X 3/8-16UNC-2B
ON 3.50 [ON 88.9] BOLT CIRCLE
1.00 [25.4] MIN FULL THREAD

1/8-27TNPTF
(AIR CONNECTION)

© ]
2 7.75[196.9] 7.50 [190.5]
(s} —]
<
5.00 [127.0]
3.00(76.2]
2.00 [50.8] i
l 1.00 [25.4] l
oD
=y f
118 |
4X M12 X 1.75-6H 205] - 7[18]
. 232 |
58.9] — ~— 1.08 [27.4]
FOR CAT 3176 ENGINE 2.56 [65.02]
1077-07770-09 A
END OF HUB

2.562 [65.07
5560 [65.02] ' EMALE PILOT

2.10 [53.3] CLEARANCE REQUIRED
FOR NUT

ON 3.50

W - 3ol
&\i | %?1.00 [25.4] ‘

1.16
4X M12 X 1.75-6H [29.5]

2.32
[58.9]

5.00 [127.0]

2.00 [50.8]

FOR CAT 3176 ENGINE

1077-07770-10

6X 3/8-16UNC-28B
88.9] BOLT CIRCLE
1.00 [25.4] MIN FULL THREAD

DIMENSIONS IN [XX] ARE IN MILLIMETERS.

APPROXIMATE WEIGHT: 19 LB (1) GROOVE ACCEPTS

SAE 1/2" BELT

(8) GROOVES ACCEPT
"POLY-V" K—SECTION
BELT

1/8-27NPTF
(AIR CONNECTION)

7.0 [180.3] —-— |+ 158.8]

.2] |

-7 18]

~—1.08 [27.4]

2.56 [65.02]

4.51 [114.6]
END OF HUB

149

www.bwthermal.com

0
C
-]
-
r 4
m
:
:
r 4
",
/7




(0
0
z
%
a]
W
z
ul
-
J
0

2.562 [65.07
2560 [65.02 FEMALE PILOT

FOR NUT

2.10 [53.3] CLEARANCE REQUIRED

DIMENSIONS IN [XX] ARE IN MILLIMETERS.

6X 3/8-16UNC-28B
ON " 3.50 [88.9] BOLT CIRCLE
1.00 [25.4] MIN FULL THREAD

(1) GROOVE ACCEPTS
SAE 1/2" BELT

(8) GROOVES ACCEPT
"POLY-V" K—SECTION
BELT

1/8-27NPTF

(AIR CONNECTION)

1 A G 9.00 [228.6] RS 190.5]
) "/_V,\\/\ L
5.00 [127.0] e |
r 3.00 [76.2] 1
2.00 [50.8] \‘Jh/%
i 27100 [25.4] |
o ?
4X M12 X 1.75-6H [;'91%] J ~.7 [18]
[.Z{ss.g] -~ 1.08 [27.4]
56 [65.02]
~— 3.98 [101.1] =~
*T 1077-07770-12
|~—— 4.094 END OF HUB —=|
256
1.08 f=—o
78.93 OVER
437 PINS
7.54 OVER
— .098 PINS
775 [
L 7.50
EFFECTIVE
P+ KENWORTH
L FOR USE ON C10/12 ENGINE
(1) SROOVES ACCEPT
£ BT T T0es008 1077-07770-13
(8) GROOVES ACCEPT
LY "V" PK-SECTION BEL

1 50 www.bwthermal.com




Rz F— 2.e:. = R 100
. —
> N 4> GROOVES ACCEPT T
‘ SAE 1/2* BELTS.
3/8-16UNC-2B
271 68 MIN FULL THREAD DEPTH
(6> HOLES EQUALLY SPACED
\ ON 3500 BC. FMI0 x 15 6H
\ THROUGH
300
VIEW IN DIRECTION OF ARROV *A‘

©
Q
=3

1

N
0
i

9
9|
o

N

0.24 == — 162 |—
— 238 —

= 3.00 —=
3.62

5.66

FOR D.D.A. SERIES 60 ENGINE.

1077-07773-01

e N ‘ ‘

(4)GROOVESCCEPT-
‘SAEI/2" BELTS.
2.71[68.8] 3/8-16UNC-28
68 MINFULTHREADEPTH
(6 HOLEEQUALLSPACED
350B.C.
I M10x1.5 6H
P - THRU
6.08 [154.4] ><ﬂ >< \ I
7.64 [194.1] / o 3.00[76.2]
1,50 [38.1]
r 5]
R
et
/ ¢ —{ |~—o0s01127

) 3,07 [78.0]

2 Vi EV\A'A

10.00 [254.0] L
1.997 1001

%1%
FOR-01 ONLY

3
1.50 [38.1] ] © &
A N
€

0
C
-]
-
r 4
m
:
:
r 4
",
/7

41629

20,
|

| LLN

8,00 [208.2]

\ 1/8-27NPTF
GREASEONN.

4 24841 (PLUGGED)
] FOR-01 ONLY| FORTHE02 ONLY
4 ~ snsz

2.561/2,562 [65.05/65.07] U
FEMALIPILOT2.10 53.

CLEARANCREQ'DFORNUT
FORTHEO2 ONLY — 1.62[41.2] [~

|~— 2.38180.5] —»

[~——3.00[76.2] —~|
362[91.9]
566 [143.8]

FOR DETROIT DIESEL SERIES-60 ENGINE

1077-07773-02

www.bwthermal.com 1 5 1




NOTE: DIMENSIONS IN [mm] ARE IN MILLIMETERS

2 GROOVES ACCEPT
SAE 7,/8" BELTS \
omB

[ 3.44
01, .56 [14.2] THRU
[«[%5] Ll
B | :
0 | [20.3]]
T S\ LABEL PART PER
[251] \ ‘ SPECIFICATION A—34473 1/2-13UNC—28
ol 3.94
NV F [100.1]
e
on A Y .
— LI ~1.2 [30.5]
U .50 [12.7]

AIR PORT ORIENTATION
FOR -02 & -03

AIR PORT ORIENTATION
FOR —01 ONLY

B APPROX.
DIM WEIGHT

1077-07867-01 | 7.03 [178.6] | 5.72 [145.3]] 23 LB
1077-07867-02 | 5.75 [146.1] | 6.19 [157.2]| 19 (B 1077-07867-XX

1077-07867-03 | 7.03 [178.6] | 7.19 [182.6]| 27 LB

PART NUMBER | Dia A

FOR CUMMINS N14 ENGINE

NOTE: DIMENSIONS IN [mm] ARE IN MILLIMETERS

(0
0
z
%
a]
W
z
ul
-
J
0

2 GROOVES ACCEPT
SAE 7/8" BELTS \ APPROXIMATE WEIGHT: 24 LBS.
6.19
[157.2] 3.44
3.03 | .56 [14.2] THRU
r177.0] 4 HOLES
8=
100  [203]]
[25.4] | h M 1/2-13UNC-28
AN 3.94
L - [100.1]
7 1.36
[34.5]
7.03 | LI B
[178.6] !
— - .50 [12.7]
- 1.2 [30.5]
1/8-27NPTF

(AIR CONNECTION)
FOR CUMMINS N14 ENGINE

1077-07867-04

1 52 www.bwthermal.com




NOTE: DIMENSIONS IN [mm] ARE IN MILLIMETERS
APPROXIMATE WEIGHT: 18 LB

2 GROOVES ACCEPT
SAE 7,/8" BELTS \
5.72

3.44
3.06 .56 [14.2] THRU
[77.7] 4 HOLES
et
1.00 - T

[25.4] M 1/2-13UNC-28

‘*<*
‘

—_
=W
o

©-
S8
=

— 13265
5.75 N | [34.5] -
[146.1] L
s FanYVan =—.50 [12.7] c
1.2 [30.5] 4
1/8-27NPTF
(AIR CONNECTION)
|
FOR CUMMINS N14 ENGINE z
2 GROOVES ACCEPT DIMENSIONS IN [mm] ARE IN MILLIMETERS ;
SAE 7/8” BELTS \
5.95
[151.1]
3.06_ _.| 3.44
[77.7] 4X .56 [14.2] THRU e
—— ~— 8
[12531 1 [20.3] z
b N 1/2-13UNC-2B
SNy 3.94

L [100.1] m

7.03 L LU0
[178.6]

1/8-27NPTF
(AIR CONNECTION)

FOR CUMMINS N14 ENGINE

1077-07867-06

www.bwthermal.com 1 53




NOTE: DIMENSIONS IN [XX] ARE IN MILLIMETERS

6.89 [175.0]
2 GROOVES ACCEPT 3.87 [98.3] ——
SAE 7/8" BELTS \| .8 [20] 4X .56 [14.2] THRU
99 [251] [ ]
| 1/2-13UNC-28
'
I H H Wu 3.94
! [100.1]
!
| 1.36
GJ [34.5]
6.38 L T L e
vezal | T[T b
S .50 [12.7]
a\ilas
K AR +—1.20 [30.1]
1/8-27NPTF

(AIR CONNECTION)

1077-07867-07

NOTE:  DIMENSIONS IN [XX] ARE IN MILLIMETERS.

(2) GROOVES ACCEPT

SAE 7/8" BELTS 1/2-13UNC-28

4% .56[14.2]
THRU

(0
0
z
%
a]
W
z
ul
-
J
0

[20]
I 3.66
(I [93.0]
7os | NI B ol
[178.6] I — \ = -— fqif
\1/8—27NPTF ) ’ 44 [11.2]
. AIR CONNECTION
—
Y — .50
| | [13]
1.2 |
[30]
3.05 —=|
[77.5] FOR CUMMINS N14 ENGINE
.99
e 1077-07867-08
6.90 [175.3]
END OF HUB

1 54 www.bwthermal.com




NOTE: DIMENSIONS IN [XX] ARE IN MILLIMETERS
540 2 GROOVES ACCEPT
o7 SAE 7/8" BELTS
1.72 .56 [14.2]
[43.7] THRU. 4 HOLES ﬂ k.B [20]
- | T
! 7 —
I 3.94 —
i [100.1]
1.36
A A D _[#8] 7.03 | |
S I — [178.6]
section A—A — ]!
} 1/2-13UNC-28B . ‘ - I
99 4 F— 3.01 —
[25.1] [76.5]
_ 7.19
[182.6]
END OF HUB
1/8-27NPTF A
(AR CONNECTION)
5013
1077-07867-09 T
2 GROOVES ACCEPT a4
SAE 7/8" BELTS o
1.72 .56 [14.2]
ﬂ k-ﬂ [20] h“ﬂ] THRU. 4 HOLES
_ . | .
) ‘
I i 3.94
D [100.1]
1.36
7.03 i [34.5]
[178.6] - ] T T I R
i
\ ] ]
S ‘
J |
97 3.01 —
(3061 [76.5] 1/2-13UNC-28
1/8-27NPTF %
710 (AR CONNECTION)
[182.6] —~ 5 [13]
END OF HUB
- 1.2 [30]
1077-07867-10 section A— A

www.bwthermal.com

155

0
C
-]
-
r 4
m
:
:
r 4
",
/7




NOTE: DIMENSIONS IN [XX] ARE IN MILLIMETERS

2 GROOVES ACCEPT

SAE 778" BELTS 3.06 [77.7] " 4X .56 [14.2] THRU 3‘44[87‘3]ﬂ
.97 [24.5] A‘ ’~ .8 [21]
[
TN
I— |
7.03 BRI |
[178.6]
— L 1/8-27NPTF
[ (AIR CONNECTION)
] - .50 [12.7]
v U U 1.2 [31]
5.95 [151.1]
END OF HUB

FOR CUMMINS N14 ENGINE

1077-07867-11

NOTE: DIMENSIONS IN [mm] ARE IN MILLIMETERS
2 GROOVES ACCEPT
SAE 7/8" BELTS

.56 [14.2] THRU

3.44
[87.3]
1.72
- 1/2-13UNC-28

(0
0
z
%
a]
W
z
ul
-
J
0

. 4 HOLES
[24.6]
) 3.94
[100.1]
I |
1.36[34.5]
[7.03] —+-— | | e
1786 J

1/8-27NPTF

1.2 [31] (AIR CONNECTION)

—| | .50 [12.7]

5.72 [145.3]
END OF HUB

FOR CUMMINS N14 ENGINE

1077-07867-12

1 56 www.bwthermal.com




E Om LABEL PART PER
SPEC A-34473
(2) GROOVES ACCEPT D M=
SAE 11/16 BELTS
=k
- [203] s
\ | o] 3/8-16UNC-28 [57.1]
(2) GROOVES ACCEPT — — ~16UNC- :
) SE 1/ TS \?*L ﬁc DM THRY +} 112 mn
! ae || ADJUSTING BRACKET
v T / (28] AT THS LOCATION
‘ ‘ ‘ ‘ FOR -04 VARIATION
|
L] - [165.1]
N
325
[825]
DA DIA
B A —|— —HitHHTHHES -
. 1,00 [25.4]
I
P
i
\ 350 T
i [88.9]
| — %As
fi27] r
: ;025 2K 56 +.045—~|
1/8-21NPTF (142 £114] | 500 T
(AR CONNECTION) [127.0]
PART NUMBER DA A B M C W D o E APPROX. WEIGHT z
FOR CAT 3406 ENGINE 1077-07869-01 625 [1586] | 950 [2413] | .72[183] 231 [187] | 672(1707] | 3818
1 077 07869 xx 1077-07869-02 6.25 [158.6] 9.50 [241.3] 72 [183] 2.31 [1587] 6.99 [177.5] 3918
- -
1077-07869-03 6.25 [1586] | 950 [241.3] | .72 [183] 231 [1587) | 7.22[1834] 018
1077-07869-04 9.30 [236.2] 7.08 [179.8] .74 [18.8] 2.23 [56.6] 5.47 [138.9] 38 1B U
LABEL PART PER —={ |j=—4X 56 +.045
SPEC A-34473 —~ [ 6[152] [14.2 +114]
M10 X 1.5-6H
(]
(3) GROOVES ACCEPT
SAE 1/2" BELTS
375 [95.3]
- 50 [12.7] [ |
F’ 6.08 | 154. 4]
——i A
%
DA | { m
A 1|‘ w.go
il [38,1]
#g‘( ‘
[ \
1/8-27NPTF
i (AIR CONNECTION)
Il ~ 5[127]
52 [15]]# —
TYP.
2.38 [60.5)
DIM B
PART NUMBER DIA A DIM B APPROX WEIGHT
FOR DETROIT DIESEL SERIES 60 ENGINE 1077-078%5-01 17 11%67] 662 [1681] 7718
1077-07895-02 [156.7] 6.87 [174 5] 28 1B
1077-07895-03 [156.7] 7.12 [180.8] 29 1B
1 077-07895-xx 1077-07895-04 17 [156.7] 6.12 [155.4] 25 1B
1077-07895-05 7.25 [184 2] 5.67 [144 0] 28 1B
1077-07885-06 7.25 [184 2] 5.87 [149 \] 28 1B

www.bwthermal.com 1 57




DIMENSIONS IN [XX] ARE IN MILLIMETERS
APPROXIMATE WEIGHT:_ 26 LBS

LABEL PART PER
SPEC A-34473 o

6
%, | |-4X .56 +.045
[152] [14.2 £1.14]
3 GROOVES ACCEPT (]
SAE 1/2” BELTS
3.75
[95.3]
(7 .50
[12.7]
7.64
| [194.1]
1 M o
-
— ‘ L
| f
1.56
6.17 ["’?'6]
[156.7] = i
— I 1,50
iy [38.1]
H 1
N
[
62+ - 1/8-27NPTF
[15.7] L 5o (/<IR CONNECTION)
62— [12.7]
[15.7]
75«5”?? FOR DETROIT DIESEL SERIES 60 ENGINE

Bo & ros 1077-07895-07

- |6 — = 4X .56 *+.045
[15.2] [14.2 £1.14]

3 GROOVES ACCEPT
SAE 1/2" BELTS

M10 X 1.5—6H
" THRU

|
3.75 |
[95.3] \
\

|

|

|
[1941] ~——— @ 4’\4{/’*

|
: 7
|
1.56 | ‘ |
2s “W i 4}
| | |

(0
0
z
%
a]
W
z
ul
-
J
0

|
62 —=| |- 1/8-27NPTF
[15.7] (AIR CONNECTION)
62 -~ |~ — .5
[15.7 n2.7]
- 2.38 -]
[60.5] FOR DETROIT DIESEL S—60 ENGINE

DIMENSIONS IN [XX] ARE IN MILLIMETERS.

825 [15858] APPROXIMATE WEIGHT: _29 Ibs. 1077-07895-08

END OF HUB

1 58 www.bwthermal.com




DIMENSIONS IN [XX] ARE IN MILLIMETERS.

— l— 6

[15]

‘ —{ = 4X .56 +.045
| [14.2 +1.14]
3 GROOVES ACCEPT ‘
SAE 1/2" BELTS | $ ®
| 3.75 ‘ ‘
‘ [95.3] ‘ |
+-H ‘ ‘ M10 X 1.5-6H
A ' 64 i | THRU
— N &
e | OTg |
i, [156.7] (L AN AN
] i [
1 1.56 ‘
A i [396] |
o — i
1.5 |
[38]
1]
62 -~ | 1/8-27NPTF
[15.7] (AIR CONNECTION)
62 = 1~~~ = |- 5
{15.7] [13]
— 2.38 |
[60.5]
e 528 [1341] [67.6]
END OF HUB 5.32
FOR DETROIT DIESEL S-60 ENGINE [135.1]

1077-07895-12

LABEL PART PER

1.00 SPEC A-34473

[25. 4]}
2 GROOVES ACCEPT
SAE 7/8" BELTS w

.53 THRU
[135]

0
C
-]
-
r 4
m
:
:
r 4
",
/7

+045 [1.14]
[ 7.72
. [196.11
u PRESS IN FITTING FOR
_ 1/4* 0.D. NYLON TUBE
7.03 [ 111 ] I
[178.6] | ] %ij
] 2.3 =
L [58.4]
5.46
[138.7]

FOR CUMMINS N14 ENGINE

1077-07899-01

www.bwthermal.com 1 59




3.35 NOTE: DIMENSIONS IN [XX] ARE IN MILLIMETERS

100 [85.1] APPROXIMATE WEIGHT: 23 LBS

254] — |~

2 GROOVES ACCEPT
SAE 7/8" BELTS
X\

[1713]4> T .53 THRU
- [13.5] »g\

50 [12.7] x .19 [4.8]
DIMPLE

7.72

o [19
—

7.03 1,!;9 ] i

[178.6] [50.5] ||
i
L
— .27 [6.9]MAX FOR CUMMINS N14 ENGINE
5.46

[138.7] 1077-07899-01A

2 GROOVES ACCEPT

SAE 7/8" BELTS DIMENSIONS IN [XX] ARE IN MILLIMETERS.

= .7 .53 THRU |
[18] [13.5]

R 3.23
[82.0]

2X .56 [14.2]
+.045 [1.14]

50 [12.7] x  —
.19 [4.8] DIMPLE

7.72
[196.1]

(0
0
z
%
a]
W
z
ul
-
J
0

PRESS IN FITTING FOR
1/4” 0.D. NYLON TUBE

T

20°

[178.6]

2.3 —=|
a\l/a [58]

le——— 7.19 [182.6]

1077-07899-02

1 60 www.bwthermal.com




DIMENSIONS IN [XX] ARE IN MILLIMETERS.

2 GROOVES ACCEPT
SAE 7/8" BELTS

.53 THRU \
[13.5]

R 3.23
[82.0]

2x .56 [14.2]
+.045 [1.14]

.50 [12.7] x
19 [4.8] DIMPLE

.7
[18]

7.72
[196.1] N Jr N
I |
PRESS IN FITTING FOR
1/4” 0.D. NYLON TUBE —
Ra L 7.03
I ) [178.6]
20°
[
T
6.32 [160.5
1077-07899-03 reos]
DIMENSIONS IN [mm] ARE IN MILLIMETERS. 2.562 [65.07]
5 oee [es 03] TEMALE PILOT
2.10 [#53.3] CLEARANCE FOR NUT REQ'D
3/8-16UNC-2B K M, r
(6) HOLES EQUALLY SPACED
ON 3.50([88.9] BOLT CIRCLE 1/8-27NPTF

1.00 [25.4] MIN FULL THREAD

7.75
(969l -

/

(AIR CONNECTION)

—| ’- 4 [10.2]

7.50
[190.5]

ey
_ AN
\:/J =
DN (o)
P
5.10
[129.5]
M12-1.75 6H
- (4) PLACES
2.00 30 (1) GROOVE ACCEPTS —
[50.8] [7.6] SAE 1/2” BELT
1.00 I
[25.4] 500 (8) GROOVES ACCEPTS e
y "POLY-V" K-SECTION
[50.8] BELT

1077-07903-01

\ LABEL PART PER

SPEC A-34473

.7 [17.8]
= 1.08 [27.5]

| 2.84 [72.2]
CAT 3176 ENGIN-

4.89 [124.2] —|

161

www.bwthermal.com

0
C
-]
-
r 4
m
:
:
r 4
",
/7




(6) GROOVES ACCEPT POLY-V [168%7] DIMENSIONS IN [mm] ARE IN MILLIMETERS.
K" SECTION BELT f41x-’> -55]3 APPROXIMATE WEIGHT: 27 LB.
b= 1.96 = -
(10) GROOVES ACCEPT POLY-V [49.8]
K" SECTION BELT ,‘ — 06
L— [15.2]
-
—
6.81
[173.0]
— 1 [ 7“?‘ —
6.18 i
[157.0] || 3
L \-/
2X .56 +£.045 ~ | > ‘
[14.2 £.1.14]
1/8-27NPTF !
18 (AIR CONNECTION) - 266 —]
- 67.6
[131.6] [ !

5,32
[135.1] DD S-60 ENGINE

1077-07905-01

DIMENSIONS IN [mm] ARE IN MILLIMETERS.
APPROXIMATE WEIGHT: 28 LBS

(6) GROOVES ACCEPT POLY-V [14@%97]
K” SECTION BELT 4% .53
= 1.96 =
(10) GROOVES ACCEPT POLY-V [49.8]
"K” SECTION BELT *1 = 0.6
L [15.2]
-
—

ot sors M/
[14.2 +1.14]

! /8- 2INPTF ) !
AIR CONNECTION . o6

5.36 [67.6]»‘
[136.1]

T
|

(0
0
z
%
a]
W
z
ul
-
J
0

[173.0]

—t
[

[157.0]

[?‘3:%?1] DD S-60 ENGINE

1077-07905-02

1 62 www.bwthermal.com




- 420 ——
[106.7] NOTE: DIMENSIONS IN [mm] ARE IN MILLIMETERS.
?1);'55]3 APPROXIMATE WEIGHT: 28 LBS
- 1.96 — : _28LBS
[49.8]
— |~ 06
[15.2] N
(6) GROOVES ACCEPT POLY-V —
"K" SECTION BELT
T
1.34 o o
[34.0]
(10) GROOVES ACCEPT POLY-V 1L 1
"K" SECTION BELT \ — \‘/ \\‘/
3.76
—— [95.5] C] C]
Y
: e (AN
[— f
6.81 L L [;g%? O O
[173.0] 1.99 {
[50.5]
6.1
[157.0] [— L »
2X .56 +.045 — /
[14.2 +1.14]
27 [6.9) MAX. — — 1/8-27NPTF
(AIR CONNECTION) I —
[égi] 167.6] L
FOR NAVISTAR SERIES TRUCK ) 530
WITH DD S-60 ENGINE [135.1]
1077-07905-02A m
4.20
[106.7]
161 4X .53
[41.0]
(8) GROOVES ACCEPT POLY-V
nod I~ 0.6
K" SECTION BELT \ ﬂ? [15.2]
]
|
(10) GROOVES ACCEPT POLY-V || z
"K” SECTION BELT i
8.59
[218.2]
—- 7“:‘ —
6.18 ‘3
[157.0] '
2X .56 +.045 —
1/8-27NPTF
536 (/QR CONNECTION) [14.2 £1.14]
[136.1]
5.32
[135.1]
DD S—-60 ENGINE

www.bwthermal.com 1 63




(0
0
z
%
a]
W
z
ul
-
J
0

3/8-16UNC-28B

(6) HOLES EQUALLY SPACED
ON 3.50[88.9] BOLT CIRCLE
1.00 [25.4] MIN FULL THREAD

2.560 [65.02]

DIMENSIONS IN [MM] ARE IN MILLIMETERS

(2) GROOVES ACCEPT
SAE 1/2" BELT

(2) GROOVES ACCEPT
SAE 11/16” BELT

.56 X
2.562_[65.07 FEMALE PILOT

2.10 [53.3] CLEARANCE FOR NUT REQ'D

.
N

] AR INLET
N / 1/8-27NPTF
B [30.5]

DIMENSIONS IN [mm] ARE IN MILLIMETERS.

APPROXIMATE WEIGHT: 34 lbs.

|
777777777777 | |
| /I
.63——4 [
[16:0]| 74
[18.8] 3/8-16UNC-2B
56 +.045 75 Ll THRU
[14.2 £1.14] [50.8 [19:1] J L,
(4) sLoTs (4) PLAc557§ggr [17.8]
2.24—
LABEL PART PER
—=11.00 SPEC A-34473 [56.9]
[25.4]
(4) PLACES 547 FOR CAT 3406 ENGINE
112 f— [138.9]
[28.4 1077-07908-01
(2) PLACES
~—3.58 [90.9]—~ —1.32 [33.5] QUICK CONNECT
91 [234F- = FITTING TO FIT 5.55 [141.0
- .20 [5.1] 1/4" 0.D NYLON TUBING
~—4.29 [109.0]—
1.67 [42.4]
1.57 [39.9]—= - .38 —=
[38.9] [9.7]
M10-1.5-6H
71 [18.0] MIN‘\
3X .53 || FULL THREAD e
[13.5] THRU |
1.22 [31.0] ﬁ <, '
o 67 [17.0] 1
49 [11.7 R =a N
! _ L’\’ K — ,,,:Z - 6.22
(N - R [158.0]
2.76 [70.1] eV $ ——
< N RNl
o - ,‘,7,7,
5.90 [149.9] fl T
- 4.00
1 - [101.6]
s - — (8) GROOVES ACCEPT
S \ POLY-V" K-SECTION
(107 BELT
4.24 [107.7 ~2.00~
\»/ &PPRO AT [50.8]
ADJUSTMENT
8.52 &216,4
END OF HU

CUMMINS L—-10 ENGINE

1077-07911-01

1 64 www.bwthermal.com




[~ 358 [90.9]  — = 1.32[33.5] DIMENSIONS IN [mm] ARE IN MILLIMETERS.
o1 — - APPROXIMATE WEIGHT: 34 Ibs.
— 20[5.1]
555[141.0] —=
1.67 [42.4]
157(399] | -
M10-1.5-6H
71[18.0] MIN. \
3X .53 FULL THREAD
[13.5] THRU
122(310] L
67[17.0]
46 [11.7] W ‘; 1.997 6.22
o [50.72] [158.0]
‘ [ —
f
276 [70.1]
5.90 [149.9]
4.00 c
[101.6] (8) GROOVES ACCEPT
N "POLY-V" K-SECTION
BELT
\ (4.24[107.7]) /’\ k[:oog]# I
\=— APPROXIMATE .
ADJUSTMENT N W |
FOR NAVISTAR SERIES TRUCK z
WITH CUMMINS L-10 ENGINE
DIMENSIONS IN BRACKETS [mm] ARE IN MILLIMETERS.
APPROXIMATE WEIGHT: 19 18
1.00
2 GROOVES ACCEPT [25.4]+{ o
SAF 7/8" BELTS \ =7 53 THRU
[17.8] [13.5]
I b
R 3.23
LABEL PART PER R 4.
/ SPEC A-34473 [114. [82.0] m
.56 +.045
[14.2 £1.14] m
6.50
[165.1]
[I—
I—
588 _ | | 1 .
[149.4] L "f
I _ <jO)
T
R 1/8-27NPTF
AIR CONNECTION
FOR CUMMINS N14 ENGINE
1077-07927-01

www.bwthermal.com 1 65




DIMENSIONS IN BRACKETS [mm] ARE IN MILLIMETERS.

96
2 GROOVES ACCEPT
SAE 7/8" BELTS \

53 THRU
[13.5]
o b
LABEL PART PER R 4.50 ?33‘313
SPEC A-34473 [114.3] :
56 +.045
[14.2 £1.14]
.50
[165.1]
6.98 | I -
[177.5])
(207
~
o 1/8-27NPTF

AIR CONNECTION

FOR CUMMINS N14 ENGINE

1077-07927-02

(8) GROOVES ACCEPT DIMENSIONS IN [mm] ARE IN MILLIMETERS

OUTLINE DRAWINGS

1.
"POLY-V" K-SECTION (529
BELT (4) SLOTS .51 [13.0] WIDE
L5 [127] ON 4.50[114.3] BOLT CIRCLE
LABEL PART PER
/ SPEC A-34473
DIA |
38
[9.7]
2.65 [67.3]
~—om B 1/8-27NPTF
(AR CONNECTION)
APPROXIMATE
PART NUMBER oia A ovm B WEIGHT
1077-07929-01 | 5.0 [127.0] 4.23 [107.4] 13 1B
1077-07929-02 | 5.00 [127.0] 5.23 [132.8] 15 LB FOR CUMMINS L10 ENGINE
1077-07929-03 | 6.50 [165.1] 4.23 [107.4] 18 L8
1077-07929-04 | 6.50 [165.1] 5.06 [128.5] 20 LB 1077-07929-XX

1 66 www.bwthermal.com




DIMENSIONS IN [XX] ARE IN MILLIMETERS.

APPROXIMATE WEIGHT: 14 lbs.

8 GROOVES ACCEPT
"POLY-V" K—SECTION

BELT

(4) SLOTS .51 [13.0] WIDE ON
4.50 [114.3] BOLT CIRCLE

J - 513

1.26 |-
[32.0]
QUICK CONNECT FITTING
023 TO FIT 1/4” 0.D. NYLON TUBING
[107.4]
END OF HUB

FOR CUMMINS L10 ENGINE

1077-07929-05

(8) GROOVES ACCEPT
"POLY-V" K—SECTION
BELT

DIMENSIONS IN [XX] ARE IN MILLIMETERS.

APPROXIMATE WEIGHT: 13 LBS

(4) SLOTS .51 [13.0] WIDE
ON  4.50 [114.3] BOLT CIRCLE

LABEL PART PER
/ SPEC A-34473

0
C
-]
-
r 4
m
:
:
r 4
",
/7

N —  5.00 [127.0]
(o | .38
S T [9.7]
—
y 2.65 [67.3]
1/8=27NPTF
5 [13] AR CONNECTION
1.26 {=—
[32.0]
461 [117.1] —~
END OF HUB

FOR CUMMINS M—11 ENGINE

1077-07929-06

www.bwthermal.com 1 67




DIMENSIONS IN [XX] ARE IN MILLIMETERS.
APPROXIMATE WEIGHT: 14 lbs
8 GROOVES ACCEPT
"POLY-V" K-SECTION
BELT (4) SLOTS .51 [13.0] WIDE ON
4.50 [114.3] BOLT CIRCLE
.5 [13]
| ]
] 6.22
I E— = [158.0]
=)
m T -
1.26 |(=—
[32.0]
|| 4.23
[107.4]
END OF HUB
FOR CUMMINS L10 ENGINE
m NOTE: DIMENSIONS IN [mm] ARE IN MILLIMETERS
z (8) GROOVES ACCEPT
"POLY-V" K-SECTION 12
B BELT [32.0]
(4) SLOTS .51 [13.0] WIDE
- sp27 N 4.50 [ON 114.3] BOLT CIRCLE
: / i
R 2.67 AN
o 4 [67.8] 45°
6.22 - \
[158.0] -
e
T
5.23
[132.8] 1/8-27NPTF
(AIR CONNECTION)
FOR CUMMINS M11 ENGINE

1 68 www.bwthermal.com




DIMENSIONS IN [XX] ARE IN MILLIMETERS.

8 GROOVES ACCEPT APPROXIMATE WEIGHT: 14 Ibs.

"POLY-V" K-SECTION

BELT

(4) SLOTS .51 [13.0] WIDE ON

4.50 [114.3] BOLT CIRCLE

R B
—IlH
] 6.22
I R T [158.0]
o
[ e
[
— =.5[13]
1.26 |=—
(32.0] 1/8-27 NPTF
AIR CONNECTION
4.23
[107.4]
END OF HUB
FOR CUMMINS L10 ENGINF
8 GROOVES ACCEPT DIMENSIONS IN [XX] ARE IN MILLIMETERS.
"POLY-V" K-SECTION
BELT
(4) SLOTS .51 [13.0] WIDE ON
4.50 [114.3] BOLT CIRCLE
] R 2.67
D [67.8]
6.22
****** - - - [158.0]

J ~—.5 [13]

] < /!
[887] ) //«
1.26 |- @ (459
[32.0]

S5.33 1/8-27 NPTF
[107.4] AIR CONNECTION
END OF HUB

FOR CUMMINS L10 ENGINE

1077-07929-09

www.bwthermal.com 1 69

0
C
-]
-
r 4
m
:
:
r 4
",
/7




(0
0
z
%
a]
W
z
ul
-
J
0

DIMENSIONS IN [XX] ARE IM MILLIMETERS.

8 GROOVES ACCEPT
"POLY-V" K—SECTION
BELT

(4) SLOTS .51 [13.0] WIDE ON
4.50 [114.3] BOLT CIRCLE

|
—[lli
—— ] 7.50
—— e [190.5]
L -
O
T
— .5 [13]
1.26 (~— 1/8—27NF'TF
[32.0] (AIR CONNECTION)
— 4.61 [117.1] —=
END OF HUB
FOR CUMMINS M11 ENGINE
DIMENSIONS IN [XX] ARE IN MILLIMETERS.
8 GROOVES ACCEPT
"POLY-V” K-SECTION
BELT (4) SLOTS .51 [13.0] WIDE ON
4.50 [114.3] BOLT CIRCLE
) A
600 _ [ e
[152.4] ]
|
J J -5 [13]
[§§%}+ 1/8-27 NPTF
AR CONNECTION
e 4.23 [107.4] —|

END OF HUB

FOR CUMMINS L10/M11 ENGINES

1077-07929-12

1 70 www.bwthermal.com




8 GROOVES ACCEPT
"POLY-V" K-SECTION

BELT (4) SLOTS .51 [13.0] WIDE ON

4.50 [114.3] BOLT CIRCLE

7.50
— - [190.5]
— =—.5[13]
1.26 j=—
[32.0] (AIR CONNECTION)
{=—4.04 [102.6]—=

END OF HUB

FOR CUMMINS M11 ENGINE

1077-07929-13

DIMENSIONS IN [XX] ARE IN MILLIMETERS.

8 GROOVES ACCEPT
"POLY-V" K-SECTION
BELT

(4) SLOTS .51 [13.0] WIDE ON
4.50 [114.3] BOLT CIRCLE

0
C
-]
-
r 4
m
:
:
r 4
",
/7

R 2.67
[67.8]
622 0 e (
- — [158.0]
///
— 513 \(.33[9.7]
~
1.26 |-
[32.0]
423 COMPRESSION FITTING
[107.4] TO FIT 1/4” 0.D. NYLON TUBING
END OF HUB ORIENTED AS SHOWN

FOR CUMMINS L10 ENGINE

1077-07929-17

www.bwthermal.com 1 7 1




DIMENSIONS IN [XX] ARE IN MILLIMETERS.

8 GROOVES ACCEPT
"POLY-V" K—SECTION

BELT

(4) SLOTS .51 [13.0] WIDE ON

4.50 [114.3] BOLT CIRCLE

[

]

D & T

@

.5 [13]

1.26 |=—
[32.0]
QUICK CONNECT FITTING
4,23 TO FIT 1/4” 0.D. NYLON TUBING
[107.4]
END OF HUB
FOR CUMMINS L10 ENGINE
1077-07929-18
.53 THRU
ﬁ ’_, 8 [13.5]
DIMENSIONS IN [mm] ARE IN MILLIMETERS [20.3]

.60 +.045

APPROXIMATE WEIGHT: _ 29 |BS [15.2 +1.14]) I

(2) GROOVES ACCEPTS
SAE 7/8" BELTS

11.12
[282.4]

| |—LABEL PART PER
- SPEC. A-34473

(0
0
z
%
a]
W
z
ul
-
J
0

7.03
[178.6]

1/8-27NPTF
AR CONNECTION

.

S - S
J 1[23-1] FOR CUMMINS N14 ENGINE
25.
[25.4) 1077-07933-01
570
[144.8]

1 72 www.bwthermal.com




53 THRU DIMENSIONS IN [XX] ARE IN MILLIMETERS. ﬁ "[é%]

(2) GROOVES ACCEPTS
SAE 7/8" BELTS

| LABEL PART PER
l SPEC. A-34473
|
\ L/

|
i
1]
Y
638 | | L L
[162.1]
11111118
1/8-27NPTF | i U |
AIR CONNECTION i i 2614]_—
|
L 335 I~
| L [85.1] AR CONNECTION
FOR CUMMINS N14 ENGINE ['2’593]%
6.90
1077-07933-02 [175.3]
END OF HUB

DIMENSIONS IN [XX] ARE IN MILLIMETERS. 8

[20]

(2) GROOVES ACCEPTS
SAE 7/8” BELTS

12
2.4] LABEL PART PER
SPEC. A-34473

0
C
-]
-
r 4
m
:
:
r 4
",
/7

)
/Ml
—E A 41— [165'3.&:]
0 [ L
. -]

1/8-27NPTF -

AIR CONNECTION
3.35 —=
[85.7]
FOR CUMMINS N14 ENGINE

1077-07933-03 1385,

6.31
[160.3]

www.bwthermal.com 1 73




53 THRU
- e
[20.3)
R 3.25
[82.6]
(2) GROOVES ACCEPTS
SAE 7/8" BELTS -
[116.8]
2
2.4]
| LABEL PART PER
- - l - l . SPEC. A-34473
,_J i i 4
m — | |
L
708 — L L '
[178.6] L
]
| ‘ —
‘
— | 1/8-27NPTF
| ‘L i AR’ CONNECTION
W
A T
| ‘L (85.1] FOR CUMMINS N14 ENGINE
| 97
- [24.6) 1077-07933-04
570
[144.8]
END OF HUB
—~ = .8[20.3]
5.00
DIMENSIONS IN [mm] ARE IN MILLIMETERS. [127.0]
LABEL PART PER
SPEC A-34473 .56 +.045 — | = 2.50 —
[14.2 £1.14] [63.5]
(2) PLACES
(2) GROOVES ACCEPT (] 7.
SAE 11/16” BELTS B
||
(2) GROOVES ACCEPT
SAE 1/2" BELTS
P |
| ‘ | 8.00
: | | | | [203.2]
! |
N
o rJ
I—
DIA —
A |
i 37
— it [9.4]
— — I~ 1.2[30.5]
NN T 1/8-27NPTF
i N i N i - i - AIR CONNECTION
(571 | |PART NUMBER | DA A | om B | APFROX
: WEIGHT
75
[19.1] 1077-07935-01 | 7.00 [177.8]| 6.72 [170.7]] 33 LB
['1%(.53] 1077-07935-02 | 7.00 [177.8] | 6.31 [160.3]| 32 LB FOR CAT 3406 ENGINE
[,15527] 1077-07935-03 | 8.50 [215.9] | 672 [170.7] | 33 LB 1077-07935-XX
: 1077-07935-04
oM B 1077-07935-05 | 8.50 [215.9] | 6.31 [160.3]| 32 LB
1077-07935-06

1 74 www.bwthermal.com




NOTE: DIMENSIONS IN [XX] ARE IN MILLIMETERS

8[20] —~ |—
5.00 (2) GROOVES ACCEPT (]
[127.0] SAE 1/2" BELTS
~— 250 —|
63.5] — | 500127
560 +.045 — = ~— 225 — M10 X 1.5-6H (2) GROOVES :.ACCEPT
[142 £1.14] 57.2] 7< THRU SAE 11/16" BELTS
\ | 12| / _ A
[28.4]
(6) 3/8-16UNC ]
" THRU HOLES itiin
8.00
[203. 6.13 9.00 [ 7.50
[155.7] [228.6] L [190.5]
4.50 -
[114.3]
’ —
1.88 1 =12 ==
| [47.8] H | A 130] A c
T Al
.37 — ~— .75
[9.4] [19.1]
62 = |—| |—231— r
1/8-27TNPTF [15.7] 58.7]
R CONNECTION 66 — ~ -
[16.8]
553
[140.5]
END OF HUB
6X 3/8-16UNC-28 EQUALLY SPACED DIMENSIONS IN [mm] ARE IN MILLIMETERS.
ON 3.50[88.9] BOLT CIRCLE APPROXIMATE WEIGHT: 24 LB
1.00 [25.4] MINIMUM FULL THREAD —
[15 31186]
2.562 [ 65.07 )
2560 .[65.055 FEMALE PILOT I —
210 [53.3] CLEARANCE REQUIRED FOR NUT [106.7]
1.96 =
#10-24UNC 2X .53 [13.5 49.8 [
.38 DEEP FULL THREAD [ ! . !
5.32
[135.1]
1/8-27NPTF
(AIR INLET)
Bt 6.81 i
- ‘Lif [173.0]
22 6.18
L i5.6] [157.0] 6
2X .56 [14.2] (152]
+.045 [1.14]

"1 (10) GROOVES ACCEPT POLY-V /

216 "K”" SECTION BELT
[54.9]

5.32 (6) GROOVES ACCEPT POLY-V
[135.1] "K” SECTION BELT

DD S-60 ENGINE

1077-07956-01

www.bwthermal.com 1 75




(0
0
z
%
a]
W
z
ul
-
J
0

3/8-16UNC-2B

(6) HOLES EQUALLY SPACED
ON 3.50 [ON 88.9] BOLT CIRCLE
1.00 [25.4] MIN FULL THREAD

518
NOTE: [131.6]
DIMENSIONS IN [mm] ARE IN MILLIMETERS.
APPROXIMATE WEIGHT: ~ 25LB 4.20
[106.7)
- 1.96 —
53[13.5] [49.78]
2 HOLES 27— |—
16.9]
MAX (]
532
[135.1]
$ 6.81 1.99
r [173.0] [£50.5]
22 6.18 ¢
[5.6] [157.0] ]
—— l— 6
- 56£.045 L
[4.2+1.1]
2SLOTS
(10) GROOVES ACCEPT POLY-V /
"K" SECTION BELT
,.(6) GROOVES ACCEPT POLY-V FOR NAVISTAR SERIES TRUCK
K" SECTION BELT WITH DD S-60 ENGINE

1077-07956-01A

DIMENSIONS IN [mm] ARE IN MILLIMETERS.
3/8-16UNC-28B APPROXIMATE WEIGHT: 26 LBS

(6) HOLES EQUALLY SPACED
ON 3.50[88.9] BOLT CIRCLE
1.00 [25.4] MIN FULL THREAD

2.562 [65.07
5560 65.02] [EMALE PILOT

4.20
2.10 [53.3] CLEARANCE FOR NUT REQ'D [106.7]

1.96 =
.53 [13.5] [49.8]
2 HOLES

s 7

5.32
[135.1]

5.37
[136.4]

#10-24UNC
.38 DEEP FULL THREAD

1/8-27NPTF
/ (AR INLET)
6.81 | 4

. 6.
[56] [157.0] .
(15]

2X .56 [14.2]
+.045 [1.14]

(10) GROOVES ACCEPT POLY-V /
"K"” SECTION BELT

(6) GROOVES ACCEPT POLY-V
"K" SECTION BELT

DD S-60 ENGINE

1077-07956-02

1 76 www.bwthermal.com




DD S-60 ENGINE

1077-07956-03

DIMENSIONS IN [mm] ARE IN MILLIMETERS.
3/8-16UNC—2B
(6) HOLES EQUALLY SPACED 5.37
ON 3.50 [88.9] BOLT CIRCLE [136.4]
1.00 [25.4] MIN FULL THREAD

[sze07]
2.562 [65.07 -
S 26 Tee o] "EMALE PILOT ~ 198~
2.10 [53.3] CLEARANCE FOR NUT REQ'D [49.8]
.53 [13.5] 7
2 HOLES [18]

5.32 — 1/8-27NPTF
[135.1] (AIR INLET)
: [ 6.81] I |
i "Li* 173.0 —
22 6.18
5.6] [157.0] .
2x 56 [14.2] (sl
+.045 [1.14]

(10) GROOVES ACCEPT POLY-V
"K” SECTION BELT

(62 GROOVES ACCEPT POLY-V
"K" SECTION BELT

DD S-60 ENGINE

1077-07956-04

3,/8-16UNC-28
(6) HOLES EQUALLY SPACED 5.37

ON 3.50 [ 88.9] BOLT CIRCLE [136.4]
1.00 [25.4] MIN FULL THREAD

(1677
2.562 [65.07] ceyyate piLOT R
2560 [65.02 A
2.10 [53.3] CLEARANCE FOR NUT REQD :
55 [13.5] 7
2 HOLES [18]

5.32 — 1/8-27NPTF
[135.1] (AR INLET)
8.59
[218.2] N N
L o 6.18 |
[5.6] [157.0] .
[1s]

2% .56 [14.2]
+.045 [1.14]

(10) GROOVES ACCEPT POLY-V
"K" SECTION BELT

(2]

&)
K

ROOVES ACCEPT POLY-V
ECTION BELT

wu

www.bwthermal.com

177

0
C
-]
-
r 4
m
:
:
r 4
",
/7




OUTLINE DRAWINGS

LABEL PART PER
SPEC A-34473

(3) GRODVES ACCEPT
SAE 172" BELTS

6.

<

[156.8]

= 6 [152]

’<~ 50 (12,71

MI0 X 1.5-6H
THRU

\ GREASE CONNECTION

— =56 [142]
TYP.
375 [9331]
6.08 (15441
peliiie

156 [39.61
1
|

150 3811
i

2 GROOVES ACCEPT
SAE 7/8" BELTS

L1

B

7.03
[1786]

J ] 1

.7
[17.8]

Vv 1/8-27NPTF
(PLUGGED L
266 1676
621571~ = — ema 532 13501
62 [I571—= == FOR DFTROIT DIFSFL SFRIFS 60 FNGINE
— e = 1077-07958-01
6.23 (15821
DIMENSIONS IN [mm] ARE IN MILLIMETERS.
APPROXIMATE WEIGHT: 24 Ibs.
1.00 3.35. —=f
[25.4] [85.1]

R 3.23
[R 82.0]

.56 + .045
[14.2] + [1.14]

38"
1/8-27NPTF
(AIR CONNECTION)

CUMMINS N—14 ENGINE

1077-07986-01

1 78 www.bwthermal.com




DIMENSIONS IN [X

7
[17.8]

97 3.35 ——
[24.6] [85.1]
2 GROOVES ACCEPT “ =
SAE 7/8” BELTS
LN
J—
|
7.03 [
[17876] ]
—
I
5.70
[144.8]
END OF HUB

FOR CUMMINS N-14 ENGINE

1077-07986-02

X] ARE IN MILLIMETERS

R 3.23

[R 82.0]

.56 + .045
[14.2] £ [1.14]

1/8-27NPTF
(AIR CONNECTION)

(10) GROOVES ACCEPT
"POLY—V" K-SECTION
BELT

3.52 —=|
[89.4]
(6) GROOVES ACCEPT 1.94 ~|
"POLY-V" K—SECTION [49.2]
BELT
5
[12.7]
‘ 1
7.70 o
[195.6]
( 7.74[ 196.6] i
OVER .0984 PIN LE
6.77
[172.0]
( 6.81[173.0] ]
OVER .0984 PINS
6.13
[155.7]

WITH CAT 3406 ENGINE

1077-08031-01

DIMENSIONS IN [MM] ARE IN MILLIMETERS.

APPROXIMATE WEIGHT: _26 Ibs.

—{ [=—2X .56 [14.2]
+.045 [1.14]
AIR CONNECTION
/1/8—27NPF ‘
['1394]
AR
T Tt / T
SO T O 2
[94.0] ! ‘ ! [73.9]
4.60 i l
[116.8] 1) \ B

www.bwthermal.com

179

0
C
-]
-
r 4
m
:
:
r 4
",
/7




